
450 FBL Head Kit

FL450-61105

(2x 4x8x3 Bearing

FL450-9005)

FL450-61104

FL450-70508

FL450-60249

HN70010

FL450-61106

FL450-60249A
(2x4x2,75)

FL450-61107

FL450-70510

M2X10

FL450-70201

small ID

Big ID

FL450-81047

M2x5

M2x16

Main Blade Holder Screw and 
Lock Nut: FL450-80179

FL450-70504

FL450-60967

(Use more or less for correct fit)

M2x8

M3 Locknut

M3x16 

All Screws should be fix with Loctide.
Thrust bearings need apply grease.


	Página 1

